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Total No. of Questions = 100 Time : 120 Minutes
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The test booklet consists of two parts “A” & “B”. The total number of test items will be 100 of
one mark each.

e g & Ol fayes €, 31’ SR || uiian Tl i el ST 100 § S Y Uk 31 HE |

Subject No. of Marks Time
faw= Questions 3Tk qHT
oAl i HEAr

Part A
I A
Section [ General English Comprehension 10 10 Composite
TUE | T fet = time of
Section II Logical & Analytical Reasoning 20 20 two hours
g |1 aqfher wa favergomerss fawam ‘ T T
Section IIT Educational & General Awareness 25 25 T H
g 11 farer TE T =
Section IV Teaching-Learning and the School 25 25
Qg [V Toreror-erfamy we fammer™
Part B * Subject Competence (any one) 20 20
AT o feroeTa werwdn (ehis Uk )
Section V (i)  Science
LCLEAY fomm

(i) Mathematics

Tiford
(iii) Social Science
HrATfsies famm
(iv) English
e
(v) Hindi

*NOTE : Any one subject is to be attempted from part ‘B’.
e : U 'F | IS Uk faua e ¥
Read the instructions given on the OMR Response Sheet carefully before you start.

YEFHH T 78l OMR Ia-99 W fau e fadei 1 sy ufeu
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HOW TO FILL UP THE INFORMATION ON THE OMR RESPONSE SHEET
(EXAMINATION ANSWER SHEET)

OMR 39T-UF UT ol WA & e91

1.  Write your complete Enrolment No. in 9 digits. Also write your correct name, address
with Pin Code in the space provided. Put your signatures on the OMR Response Sheet
with date. Ensure that the Invigilator in your examination hall also puts his signatures

with date on the OMR Response Sheet at the space provided. You should use HB Pencil.
IO g AW HEe (TeHe TeR) 9 ol ° fafeu ) fed v o saer we A 9
Fre Ffed da1 of fafew) OMR sR-19 R fafy wfed o7 zEaeR Sivg | a8 o giHfiveg =
fifSry for smoen wiien e % e 7 OMR SW-w W fou 1 o = fafy ofeq s=mer
2 fea 81 sl HB dfae &1 gam & =fen |

2. All information is to be filled up with HB Pencil. The circles corresponding to the digit

are to be darkened with an HB pencil.

T go HB Ufae g vl S =ifen ) ol % a9l sl HB et 9 € shen & B

3. Do not make any stray remarks on this OMR Response Sheet.

TH OMR STR-TF W &g aifoq feufomi o from =28 evmeu

4.  Write correct information in numerical digit in Enrolment No. and Examination Centre
Code columns. The corresponding circles should be dark enough and should be filled in
completely.

AHIFT HEA SR GOET R HIS G Hieml SRl § we gEe fafaw) g g gat me
T =few 3R g8 wWe | W T e =eu |

5.  Each question is followed by four (or less) probable answers, which are numbered 1, 2, 3
and 4. You should select and show only one answer to each question considered by you
as the most appropriate or the correct answer. Select the most appropriate answer. Then
by using HB pencil, blacken the circle bearing the correct answer number against the
serial number of the question. If you find that answer to any question is none of the four
alternatives given under the question you should darken the circle ‘0’.
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TIF 999 & 98 |R (I HH) G9ifad 3w, S 1, 2, 3 991 4 g fawiad fE ™ ¥ g
TE IW WG © | AU IT® S G| acwEr. HB YRR % AN 51 WS % REIE h
G WE ST HEA 9 g9 i el Hife | Afg g 9 ¥ v % i o3 \r fasedt
o g w1 offt 98t IR TR & @ SA9R g9 0’ HI HION HEA A6

6. If you wish to change your answer, ERASE completely the already darkened circle by
using a good quality eraser and then blacken the circle bearing your revised answer
number. If incorrect answer is not erased completely, smudges will be left on the erased
circle and the question will be read as having two answers and will be ignored for

giving any credit.

Ifg 39 *E IW H FCAN =8, A T8 H 2wl R g9 H TEH TS U ard WRH
T e fyer SifSu IR genfya I Fen amt g9 &1 &wen & | afe Tad W R [T W@
Tel  faermn o a1 fred g9 # Fo fom w© SR iR uE % @ IW fed gn we S
3R i fd w9g g8 srEter fwan s

7. No credit will be given if more than one answer is given for one question. Therefore, you

should select the most appropriate answer.
afg TF 9 & fad w9 Afus S o S q1 S i 9 fed SR ghfau sngen
Taifyes 3fad ST H =9 FHA Alfeq |

8.  You should not spend too much time on any one question. If you find any particular
question difficult, leave it and go to the next. If you have time left after answering all the

questions, you may go back to the unanswered ones.

fordl wh gvd W aAfu wwa € o) Afe ekl g fafe wed wfew @ € @ 39
BIEHL A W ARY| T G FT IW < F d1¢ Afg 3M0F I 9T 7, q 3T I q9 W
T S Hhd € frEen o s el fen g
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9.  Only one subject is to be attempted from PART ‘B’.

U '’ | hael Uk & fawa & B

You will attempt the questions as under :

Sl. No. Subject No. of Questions
. 5 s

(i) Science Q. Nos. 81 to 100
fasm gvT & 81 ¥ 100

(ii) Mathematics Q. Nos. 101 to 120
Tifora I W= 101 8 120

(iii) Social Science Q. Nos. 121 to 140
wrifsrer fagm I §& 121 9 140

(iv) English Q. Nos. 141 to 160
EuEil I @& 141 9 160

(v) Hindi Q. Nos. 161 to 180
fe=t 99§ 161 8 180
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GENERAL INSTRUCTION

o= gt

1. No cell phones, calculators, books, slide-rules, note-books or written notes, etc. will be
allowed inside the examination hall.

e e F AT FE HA T, Fopold, Tk, TES-FC, A-g% A1 fafga dr seng an
H1 Afa T& T

2. You should follow the instructions given by the Centre Superintendent and by the
Invigilator at the examination venue. If you violate the instructions you will be

d isqualified.
e Toe 9 Y] g e i faderes g e ma fRRe @ uerm & §1 afe ey
3T o9 1 Sooted RO G AU AR =ity eI S|

3.  Any candidate found copying or receiving or giving assistance in the examination will be
disqualified. ’ '
e ® Afg w1g ghene TRe wRd gU AT Ferdl <d g AT Wi i gU 9 T d SH
A =t T smam )

4.  The Test Booklet and the OMR Response Sheet (Answer Sheet) would be supplied to you
by the Invigilators. After the examination is over, you should hand over the OMR
Response Sheet to the Invigilator before leaving the examination hall. Any candidate who
does not return the OMR Response Sheet will be disqualified and the University may take

further action against him/her.

et fAerhl gR1 wen  qfet ik OMR STR-93 fod ST | wien & 99| 29 W gden
FY BIEd ¥ YTl ATTH! OMR ITW-T3 e &1 €99 <1 =ifew | s qdamedt e OMR
IR-T3 I TEl AR 7, IH FArA =nfug e S o favafaemea sae fawg o wram
FHAT |

5.  All rough work is to be done on the test booklet itself and not on any other paper. Scrap
paper is not permitted. For arriving at answers you may work in the margins, make

some markings or underline in the test booklet itself.

Tt T FE Wi gREsR WOE TR ST iR R o S W AE | TS & FE ST
THS ®I STAAM TG T ST TH T & o mue wden gigen # wifsH § v B, I8
fom e o 3 EifRd wA R STEf
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6.  The University reserves the right to cancel scores of any candidate who impersonates or
uses/adopts other malpractices or uses any unfair means. The examination is conducted
under uniform conditions. The University would also follow a procedure to verify the
validity of scores of all examinees uniformly. If there is substantial indication that your
performance is not genuine, the University may cancel your score.

favafaarer fed t@ anef & ymwie fe @ #1 IfUsR TaEdt € S SHEY UR0T HIa
® 91 T I GUER ATA € A FAN HIO ¥ A STAfET W YA wAT T e THEEE
feafedl & arefi ganfera 1 1 W@ 21 favafaaem ot whenfefal & gl = qraa wweEH
w9 4 Srem &1 feafafy sroameh | afe gate @a § fo emue frsaeq stoett =i €,
forvafaemera smes ymis freed o whdt 1

7.  Candidates should bring their hall tickets duly issued by the Registrar: In the event of
your qualifying the Entrance Test, this hall ticket should be enclosed with your admission
form while submitting it to the University for seeking admission in B.Ed. Programme
along with your testimonials and programme fee. Admission forms received without hall
ticket in original will be summarily rejected.

et & F@ wfem g0 I fv T g fewe @ =few) afg smo waw wden # Ay
i frd WA § @ e FEEE § vAv ¥ fvafimem § o9 wEO-TE 9 9 Ie o
T UH] Ja¥ HH F WY 3W T fewme 1 o s =few) s yaw wiH fa q@ e
fere & ym ol 9N 3R SuEd 9 W) fm w1 e s
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PART-A
SECTION-I : GENERAL ENGLISH COMPREHENSION

Read the following passage carefully and choose the best answer out of the four choices given
after each question that follow :

According to Albert Einstein, the non-mathematician is seized by a mysterious shuddering
when he hears of ‘four - dimensional’ things; he is seized by a feeling, which is very familiar to the
thoughts awakened by the occult. And at the same time the statement that the world in which we
live is a four-dimensional space-time continuum is quite a common - place statement.

This might lead to an argument regarding the use of the term “common place” by Einstein.
Yet the difficulty lies more in the wording than the ideas. Einstein’s concept of the universe as a
four - dimensional space - time continuum becomes plain and clear, when what he means by
continuum becomes clear. A continuum is something that is continuous; a ruler, for example, is a
one - dimensional space continuum. Most rulers are divided into inches and fractions, scaled
down to one - sixteenth of an inch. Will it be possible to conceive of a ruler, which is calibrated to
a millionth or billionth of an inch. In theory there is no reason why the steps from point to point
should not be even smaller. What distinguishes a continuum is the fact that the space between any
two points can be sub-divided into an infinite number of small divisions.

A rail road track is one - dimensional space continuum and on it the engineer of a train can
describe his position at any time by citing a single co-ordinate point, i.e. a station or a
milestone. A sea captain, however, has to worry about two dimensions. The surface of the sea is
two - dimensional continuum and the co-ordinate points by which a sailor fixes his positions in his
two dimensional continuum are latitude and longitude. An airplane pilot guides his plane through
a three - dimensional continuum, hence he has to consider not only latitude and longitude, but
also his height above the ground. The continuum of an airplane pilot constitutes space as we
perceive it. In other words, the space of our world is a three - dimensional continuum. Just indicating
its position in space is not enough while describing any physical event, which involves motion.
How position changes in time also needs to be mentioned. Thus to give an accurate picture of the
operation of a New York-Chicago Express, one must mention not only that it goes from New York
to Albany to Syracuse to Cleveland to Toledo to Chicago, but also the times at which it touches
each of these points. This can be done either by means of a time table or a visual chart. If the miles
between New York and Chicago are plotted horizontally on a piece of paper and the hours and
minutes are plotted vertically, then a diagonal line properly drawn across the page illustrates the
progress of the train in two - dimensional space-time continuum. This type of graphic representation
is familiar to most newspaper readers, a stockmarket chart, for example, pictures financial events
in a two dimensional dollar-time continuum. Similarly for the best picturization of the flight of an
airplane from New York to Los Angeles, a four-dimensional space-time continuum is essential.
The latitude, longitude and altitude will only make sense to the traffic manager of the airline if the
time co-ordinate is mentioned. Therefore, time is the fourth dimension. If a flight has to be looked

‘at, perceived as a whole, it wouldn’t work if it is broken down into a series of disconnected take-
off, climbs, glides, and landing; it needs to be looked at and perceived as a continuous four-
dimensional space-time continuum curve.

1.  In order to explain a difficult topic, the author uses :
(1) simply phrased definitions (2) a quotation from Einstein
(3) an incessant metaphor (4) familiar images
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10.

The significant feature of a continuum, according to the passage, revolves around :
(1)  the divisibility of the interval between any two points

(2) an ordinary ruler’s caliber for marking

(3) its unending curve

(4) its variety of co-ordinates

The purpose of this passage is to highlight the point that :

(1) pilots and sea captains have something in common

(2)  stockmarket charts may be helpful to physicists

(3) the fourth dimension is time

(4) non-mathematicians are often afraid of the common place

According to the passage, an airline’s traffic manager depends upon all the following
except :

(1) latitude and longitude (2) altitude
(3) the time co-ordinate ~ (4) the continuous curve in co-ordinate four

The underlying tone of this passage is :
(1) persuasive (2) differential (3) candid (4) instructive

According to the author, if one wishes to portray a physical event in which motion plays a
role, one has to :

(1) make use of a time table (2) indicate how position changes in time
(3) describe it graphically (4) be aware of altitude, latitude and longitude

The sea captain’s example has been cited in order to :
(1)  help understand a two dimensional continuum
(2) set up a logical progression

(3) mitigate the gap between the engineer and pilot

(4) to sustain our interest in the reading of the passage

‘Feeling’ in the first paragraph is :

(I) a noun (2) averb (3) a gerund (4) an adjective

In the first paragraph, ‘mysterious’ is :
(1) anoun (2) averb (3) an adjective (4) none of these

In the first paragraph, the word ‘Occult’ has been used. Which of the following does not
come under occult ?

(1)  Physics (2) Mathematics  (3) Chemistry (4) All of these

B.Ed./2011 10
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PART-A

SECTION-IT : LOGICAL AND ANALYTICAL REASONING
Directions (11 - 14) :

Each of the following two statements are followed by two conclusions. Assuming that the
given statements are true, you have to decide which conclusion follows strictly from the
given statements. Select your answer from the alternatives.

11. Statement : All boys are not students.

Some students are not employed.

Conclusions :
(I) - These boys are not employed.
(IT) - Some employed one are not boys.
(1)  Only (I) follows (2)  Only (II) follows
(3)  Both (I) and (II) follow (4) Neither (I) nor (II) follows
12. Statements : All furnitures are pens.
All pens are pencils.
Conclusions :
(I) Some furnitures are pencils.
(IT) All pencils are furnitures.
(1)  Only (I) follows (2)  Only (II) follows
(3)  Both (I) and (IT) follow (4) Neither (I) nor (II) follows
13. Statements : No dog is animal.

No animal is living being.
Conclusions :

(I) No animal is dog.

(IT) Some living beings are dogs.

(I)  Only (I) follows (2)  Only (II) follows
(3)  Both (I) and (II) follow (4)  Neither (I) nor (II) follows
14. Statements : No bird has wings.

All birds are rational.
Conclusions :
(I) Wingless beings are birds.
(IT) Some rationals are birds.
(1)  Only (I) follows (2)  Only (II) follows
(3)  Both (I) and (II) follow (4)  Neither (I) nor (II) follows

B.Ed./2011 12
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15.

16.

17,

18.

19

20.

21

22,

Directions (15 - 18) :
In the following questions a series is being given. Select from the alternatives the correct term
to fill in the missing term.

1 22 @ 19 ) 20 @ 21
2 3 S
\/%' 5 ' 5\/@) 257 B

2 L @) —— 4 -
1 75 (@) 75 3) 2505 4) 5%

3,15, 39, 75, _
(1) 93 (2) 101 3) 99 (4) 123

25, 25, 27, 22, 30, 19, 34, 16, .
(1) 39 (2) 35 3) 32 (4) 13

Directions (19 - 22) :
The following questions are based on the following diagrams. Circles (irrespectives of the

size or location) represent objects. You have to identify which of the following diagrams
would represent best the relationship between given terms.

© (@ & & 8
(A) (B) ©) (D) (E)

Which of the above five diagrams would best represent - Musicians, Instrumentalists,
Violinists ?

M (A) ) (B ©G) © (4) (B

Which of the above five diagrams would best represent - People, Painters, Boys ?
1) (B 2) M) () (A) 4) (B

Which of the above five diagrams would best represent - Mothers, Fathers and Teachers ?

1) (A (2) (B G) (D) “4) (B

Which of the above five diagrams would best represent - Men, Women and Children ?
(A 2 (©) -G () (4) None

B.Ed./2011 14



fHder (15 - 18) :
frafafed wedl 7w sgen & 1 @ § 1 fogqa 95 v F o wed ue faweat @ gfw

15. 5,7,10,11,15,15,20, __¢

(1) 22 (2) 19 (3) 20 (4) 21
203 4 s
16. NEK 5 5\/3'5 .
6 , 74 6 7
(1) E (2) —2_5' (3) 255 (4) 255

17. 3,15,39,75, ___
1) 93 (2) 101 3 99 (4) 123

18. 25,25,27,22,30,19, 34,16, .
1) 39 2) 35 3) 32 4) 13

fader (19 - 22) :

frafafaa wea fau T s, 391 (=% ser stuan feafa $ ot ®) W e € < awgeti
frefua #2d €1 119! 98 YeuH ! © T frefafea o 9 s onw few e vl & o9 ge
37oS1 HeY YRIa SO |

D 8 &

(A) (B) (E)
19. SYg UiEl SR@! H ¥ w91 S GidHRi, e, arafaTereen! o Fefad S ?
1) (A) 2) (B @ (© 4) (E)

20. SYY °rE SR H | R @ Al ferenrl iR oiewl w wag o= frefud s ?
1) (B 2 (D) (3) (A) 4) (B)

21. 394 99 ARGl § | S e A, st o st B way oot frefug s ?
1) (A) 2) (B) 3) (D) 4) (B

22. I 9T ARG H W B NG - To, Afecnsit iR srerhl w1 wod oo frefud wom?
1) (A 2 (© 3) (B (4) TR
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23.

24.

25.

26.

27

28.

29,

30.

Directions (23 - 26) : .
In the following questions, there are two sets of figures. You have to find a figure from the
answer figures which can best suit the question figure series.

? &
(1) (2) (3) (4)
QR | R | 988 | 0000 AT | U | U | oes
- ? I
AATTEO | FTOTY| AT | T IV | 0TI | TT LR

() (2) ) 4)

HEE IS b

(1) (2) 3) )

| ol AT Y S| TAY
K_j-? IF=t=0 7 : |——0 :

1) (2) () (4)

1
A student gets one mark for every correct answer but g mark is deducted for every wrong

answer he gives. In 108 questions his total score is zero. How many questions has he answered
wrong ?
(1 27 (2) 30 (3) 81 (4) 54

[dentify the odd member of this group ? ‘
(1) 13 (2) 61 3) 73 (4) 69

In the following arrangement of numbers how many times 5 is preceded by 4 but not followed
by 7 ?

4571254645475456574

() A 2r - 2 ¢ 3 “4) 4

If

SHAPE is BURST
BORE is XLKT
CLIME is YAPCT
then BISHOP can be coded as :
(1) XPBULS (2) XEPLST (3) XPALUE (4) XPBVLT

B.Ed./2011 16



23.

24.

25.

26.

27,

28.

29,

30.

143248

Aot (23 - 26) :
frfafad T § STl & o T €| SR SR SAHaAl § T TH TSI T FHE & W A
ST et % faeger STg 2|

(1) 2) ©) (4)

A | QU | 000
SITA

TTI0 | 7TOI0
1) (2) (3) )

X | 2 |60l R |||
| e | ==t =
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31

32.

33.

34.

35.

36.

37.

38.

PART-A .
SECTION-III : EDUCATIONAL AND GENERAL AWARENESS

Each question is followed by four alternative responses. Choose the best answer and write
its serial number. '

Gandhiji’s ‘Champaran Movement” was for :
(1)  The security rights of Harijans

(2)  Civil disobedience movement
(3)

(4)

Maintaining the unity of Hindu Society
Solving the problems of indigo workers

The Programme of Swadeshi and Boycot against the partition of Bangal was visualized by :
(1) Surendra Nath Banerjee (2) B.C.Pal
(3) Aurobindo Ghosh (4) Rash Behari Ghosh

Right to Education 2009 provides for :

(1) Free and Compulsory Elementary Education to all children up to the age of 14 years.

(2) Free and Compulsory Elementary Education to all children upto the age of 18 years

(3) Free.and Compulsory Elementary Education to all children in the age group of 6-14
years '

(4) TFree and Compulsory Elementary Education to all children in the age group of 6 - 18
years

The soft smooth feel of the skin with “after shave lotion” is due to the presence of :
(1)  Alcohol (2) Glycerol (3) Menthol (4) Perfume

The fourth dimension in Physics was introduced by :
(1) TIsaac Newton (2) Albert Einstein (3) Galileo (4) Neil Bohr

Which of the following is rich in Carbohydrates, Proteins and Fats ?
(1)  Rice grains (2) Soyabean seeds (3) Mango fruit (4) Cabbage leaves

The main purpose of Panchayat Raj is :

(1) to create employment

(2) to make people politically conscious

(3) to increase agriculture production

(4) to make people participate in developmental administration

The longest sea shore line is along the state of :
(1) Gujarat (2) Maharashtra  (3) Orissa (4) Kerala
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31.

32.

33.

34.
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36.

37.

38.

HAT-A

QUES-111 : Yifareh e ATHT are
frefafaa o wos 999 % a1 =R fawey fau o §, v § gaifus S9ge W H 9 |
TSI gRT =TT T =R A< foa o fog on ?
(1) BRI % qeen Afusr
(2) HfaTa e
(3) fég v =i T wEH & fau
(4) sfem () S w1 T % gauE % fog

eI A qA1 s faursH 1 fatiy fve &1 famm an ?
(1) Glg e St (2) . T
(3) erfeg =W (4) T foer =™

forem =1 @AfereRR 2009 1 3RYF FAT T ?

(1) g% qen Aar yrfve fren 14 a4 a% #t 9 & et a= & oo
(2) 189 =t oY e % et ATkl ok foru qua qun AfTard fen

(3) 699 ¥ 14 T4 Tk i g % it SnereRi & fere gua qen sifard faen
(4) 6-1873d & 3 a7 o A STeTRl & fore qu e sifqard fren

* SR 9 AR TR o eI e W 3T T Syfa fre el Y sufeerfy & s gt § 2

(1) STehEd (2) frowe (3) Hema (4) TETA
Afifqert & <ten stam frfafeaa § | feem fean?

(1) 9k =JeA (2) oI WA (3)  dfaferar (4) e E
frafafaa § @ o5 s © 59 A Fetemee, DM q@n a9 3= i sgeran & ?

(1) =& (2) HHEEE (3) M H FHA (4) oM F
TR TS T YA 3299 T T 2

(1) i &1 gom (2) =gl § sfas S i fawe

(3) Ffu 3RA ° gfs (4) @ I fowrETTd YeEE & AR wE
o o gt o fore o & w2

(1) T (2) wRRTZ (3) s (4) @
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39.

40.

41.

43.

44.

45.

46.

47.

In India, Diamonds are found at :

(1) Panna (M.P.) (2) Golconda (A.P.)
(3)  Khetri (Rajasthan) (4) Mayurbhanj (Orissa)

The most malleable metal is :

(1) Platinum (2) Silver (3) Iron (4) Gold

Soda water contains :
(1) Carbonic Acid (2)  Sulphuric Acid
{3) Nitric Acid (4) Carboxylic Acid

Who said, “The Principles (Directive Principles) should be made the basis of all the future
legislation”?

(1)  Pt. Nehru (2) Dr. B.R. Ambedkar
(3) Dr. B.N. Rao (4)  Dr. Zakir Hussain

Indian National Congress was born during the Governor Generalship of :
(1) Lord Ripon (2)  Lord William Bantik
(3) Lord Dufferin (4) Lord Curzon

Chanakya was also known as :
(1) Bhattasvamin (2)  Vishnu Gupta
(3) Rajasekhara (4) Visakhaduta

Which one of the following is NOT an astronomical object ?

(1)  Pulsar (2)  Brittle star (3)  Black hole (4) Quasar

Who among the following Gurus introduced the Gurumukhi script for the spoken language
of Punjabis ?

(1)  Guru Nanak (2)  Guru Angad (3) Guru Amardas (4) Guru Ramdas

Mudaliar Commission had focussed on :
(1)  Elementary Education (2) Secondary Education

(3) Higher Secondary Education (4) Higher Education
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39. WA H € e foon § 2
(1) w1 (99.) (2) TICTRIET (3ATY T=9)
(3) WS (TTSTEI) (4) TPRES (IIE)

40. fr=fafeaa § 9 S ug gatfus st § 2
(1) wifem (2) =i (3) e (4) @

41. GEIaXH FEAE ?
(1) wEMH® 3= (2) TUd & T (3)  RigeH et (4) wrEIfafeR 3R

42. I o o1 wem & T frdvres fagidl 1 @t ufess & 89 are fafy famfor 1 sum s=mn s =nfew 2
(1) 9 ¥e® (2) T 3R ITEETH
(3) T AT ™ (4) = e gEd

43, & YRAE UL FHUY I8 TS 39 THT YRA 1 T S HIF of ?
1) e A 2) e fafeem dfew
(3) e et (4) o FoH

44. SR T GHU AH FT A1 ?
(1) v (2) faopqe (3) TSERET (4) faemEmE

45. Trfafeas # @ =9 w @ i =& &2
(1) TR (2), forea =R (3) w=iE T (4) TR

46. HTferEl gRI St S At T TeEt fafy ey e d o
(1) 7% 9% (2) & AR (3) T FAEH (4) T UHSH

47. A AFN 1 HwT fohg o o ?
(1) 9rfye foen (2) weAfHeE foran
(3) F=M HrEAfHE e (4) = foan
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48.

49.

50.

51.

52.

53.

54.

55.

Rashtriya Madhvamik Shiksha Abhivan {(RMSA) is :
(1) a programme run by NGOs and supported by the government.

(2) a programme sponsored by donor agencies from abroad.
(3) a programme run on “no profit no loss” basis.
(4) a programme of the Government of India for Universalization of Secondary Education.

A committee in the post independence era that looked into various aspects of vocational
education was headed by :

(1) Ishwar Bhai Patel (2) Triguna Sen
(3) Malcom Adisheshaiyah (4) M.C. Chhagla

The concept of Neighbourhood schools was given by :
(1) Radhakrishnan Commission (2) Mudaliar Commission
(3) Kothari Commission (4) All the above

Basic Education was conceptualized by :
(1) Dr. Rajendra Prasad (2)  Dr. Zakir Hussain
(3) Mahatma Gandhi (4) Rabindra Nath Tagore

The World Conference on Education For All (EFA) was held on Jomtien (Thailand) in the
year :

(1) 1986 (2) 1990 3) 1992 (4) 2000

District Institutes of Education and Training came into existence owing to :
(1) Recommendations of Kothari Commission.

(2) Recommendations of the NCERT.

(3) Recommendations of National Policy on Education (1986).

(4) Recommendations of RamaMurthy Committee.

Quality of school education can be improved by :
(1)  providing more trained teachers.

(2) improving text books.

(3) improving classroom processes.

(4) All of the above.

Education for values cannot be imparted formally because :
(1)  values are disputable (2) * there is dearth of teachers
(3) these are acquired by grown ups (4) these are caught and not taught
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48. TrE meafae foen Afvame -
(1) T T HEHA T S TR-THRT T Foad & W 8 TR =1 9o o 2
(2) I wEET T S faRet wsifaal % wm 9wt 2
(3) T FEHH T i forr eny-foe &1 & SMUR W =eran S ¥
(4) 9Rd GIRR F1 FAFEH ¢ Foraent seva mreafae fan =1 9 difgeo 2

49. aud Wit o qvEa o 36 |fafd e 3 sremtas faan fo fafyes qeqet =i sien 9w, & e
I o1 7
(1) FvR9E 9 (2) P
(3) HEhH ARG (4) wAHE. BT

50. TS fozmea (Neighbourhood school) &I AFYRon fmea <5 2
(1) THED AEE (2)  HAMORR @A (3) ISR SN (4) S [eft

51. Sfae foen &1 S=e siF o ?
(1) TLINETER  (2) oL g (3) e (4)  fsiger SR

52. o9 fren & fore fave wwem s gl (Safa) & gom o, forg ad § gen ?
(1) 1986 (2) 1990 (3) 1992 (4) 2000

53. fefigar sicge oiw uophem de ofHn o @t srquiamsti & ener W sifee | e ?
(1) ISR &M (2) TAHLE WA
3) e fuen ifd (1986) (4) TEfd afafa

54, Tommert foren st ToraTn HET S@E S Wehdl § 2
(1) eAferer wiwifera sreamder 9eM ik (2)  9ISHYRIh H YUR aeht
(3) e I UfhAtell H GUR clehT (4) SwgE [

55. Tl o forg fren siroenfier w9 9§ 6 < < wehdt a4t
(1) Hea foamerer g ¥ |
(2)  STEATIHI HT FHH T
(3) 3% had T & UK H HHA ¢ |
) HA 1 HEAIA TRl R S Hehan, A a1 W@ wev fhu o © )
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PART-A
SECTION-IV : TEACHING-LEARNING AND SCHOOL

56. A school curriculum can best be defined as :
(1)  sum total of knowledge to be provided to learners
{(2)  the sum total of organised pupil experiences under the patronage of the school
(3) the complete array of the courses of study

(4) all the materials used to further pupil’s activities

57. The chief objective of organising work experiences in school is
(1)  preparing youths for future vocations

(2) establishing relationship between school and workplace

(3) providing free time to teachers after engaging students

(

4) co-ordinated development of learners besides cognitive development

58. Who should select the Instructional Materials ?
(1) The teacher (2) Head of the Department

(3)  Principal of the institute (4) A committee of experts

59. Why should classroom furniture be movable ?
(1) it is easier to maintain
(2) it helps maintain discipline
(3) it suits to the different instructional needs
(

4) it is economical in cost

60. What should be the primary function of a school as an agent of society ?

(1)  To maintain social norms.

(2) To prepare the child for social life.
(3) To provide students understanding of their environment.
(4) To develop vocational competence among students.

61. What should be the main goal of the school learning process ?

(1)  Development of potentialities of the learner

(2) Assimilation of knowledge
(3) Development of learners in both cognitive and non-cognitive areas
(4) Development of values and attitudes
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59.
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61.

UIT-37
@WUE-1V : 3TATYA-31e U foeme

e fornerdt wea=Et w gatay afvmm €

(1) == &1 9eH fohan S e 999 91

(2) fommera o e o faenfai 1 sqafea sHyfa w am

(3) e I go e

(4) o= & foran s I seW & e 3uEn | @8 S arelt w9y |t

forameral § S1aiya & STESH 1 g 389

(1) Fgaehi o1 9fasd o FHTH-HTS 6 L TIR FHEAT T |

(2) -yt qen ool | Ty Tenfud e ©

(3) HET UG % UYET STEATIHI i $ Wil THT ST 7|

(4)  IaETCHh fashTa & wre-Te sTeAded o gHAfad faet w ¥

Weaforer wA 1 FEA fRE FE e 2

(1) TeAYSH 2) favwrmeas =1

(3) HEAM & YrEH & (4) ol =61 e wfhfa
HETT T o) =l (Aae) BT AfeT |

(1) ST TE@EE HET 9 S|

(2) 3HY YA HEH W H Ferar fHerd ¥

() = fafim deifors st & fau sugw g 2|
(4) TH R GH HH A L

TS % Ui & ®9 H funerd o1 w1 w1 Fa 8 Fifen ?
(1) FMISIe A hl HEH @A

(2) oS AR St o ot Gam e

(3) Toenfoiai & 37 wateRer o Uid diY e HE

(4) foenferi # et drad &1 fawm we

foamerdt siferma wfswan @1 g s wn g =fe ?

(1) SF=A@E =t gqaaisti & faewm w

(2) T I FHE HEAT

(3) HIMIHSF T TR-GHMCHSE &3l | s1earsti o1 fashra e
(4) oAt aen sifvgfaal @ fawm #e
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62. A teacher should be well versed with the theories of learning because :
(1)

2) it helps the teacher to understand the attitudes and interests of the learners
)
)

(
(3
(

it helps the teacher to know the needs of the learners

it helps the teacher to know the ways different students learn
4) it ensures discipline in the classroom
63. What should be the basic determinant of a good discussion in a class ?
(1)  Skills of the teacher
(2) Knowledge of the teacher and students
(3)  The unity of purpose and interest of the class

(4) Mastery over the topic

64. Which one of the following can not be related to identity need of adolescents ?

(1)  Need to get higher achievement

(2) Need to be recognised
(3) Need to belong
(4) None of the above

65. ‘MLL’ is basically an approach which assumes :
(1) all students can learn a task

(2) every learning task can’t be learnt

( objectives can be achieved if defined well

none of the above

66. The modern concept of Education is based on the belief that :
(1) it rely only on concrete experiences as the medium.
(2) child should adapt to the needs and goals of the soéiety.
(3) education should synchronize with child’s motives, needs and interests.

(4) academic competence should play a supreme role.

67. Probably the greatest satisfaction in teaching is :

(1) a feeling of love for and by children

(2) asense of service to mankind
(3) a secured monetary gain
(4) asense of contribution to pupils growth
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65.

66.

67.

T 3189eh & forn sifard € for =8 srferm fagidl = et wifa a= &1, =61 fF .

(1) T9Y 74195 1 AT H1 YIRS I 1 H Ferad fHerdt T

(2) T EATYeR] ! TSl i sAfugiaal qen stfiefaat 1 waem # werera faerd §
(3) THY ALATIHI HI Tg A H wergal fHerdt § fF eredan fea-fom w9 ° dre wehd €
(4) THY Fey TvnEs giafeea g 7

Fe | U T=37 == 1 g Aass (Fuiew) F e e ?
(1) 37&AT9% & HRTA

(2) 3reATIs SR Tt & F9 1 =R

(3) e & yASH IR AfEra w T

(4) fow=a =t getom

il o1 T e @ Frefefian @ i get T @ a2
(1) 3= Iucfey it SATALIRA (2) TEEM S I SEYIRA
(3) w=Efud 89 I AEvIehal 4) Sudw H F HE Tl

MLL (=¥ e &) Hei &9 | Ush TEr suns § frgent wmre & f
(1) et o w1 weft fereneff wva ges ¥

(2) |t eAferm FE 9@ AE S wed €
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(4) STgF H ¥ P T

forem =t eyfer sTaumon 39 favara w snefia ® fo

(1) Weaq % ®9 § FHael o 799 & favaa g g1
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(3) == Wi foan sEh 3RYAl, snavasmasti aun sifefadl % erme
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HHEd: A9 H 99 9 91 Hfe

(1) =i & fau 3iR 5= gR1 e &1 9=
(2) #FE F Ffq Fa1 91|

(3) TE gifwa enfefew oy

4) == & fowe § AreE & e

B.Ed./2011 27

P.T.O.



68.

69.

71.

72.

73.

Who would be the worst sufferer in common school in terms of scholastic achievement ?

(1) Backward child (2) Girl child
(3)  Normal child (4) Gifted child

Readiness of a child for a specific school subject would depend upon :
(1) his physiological maturity.

(2)  his previous academic achievements.
(3)  his motivational level and self-concept.

)
(4) None of the above

The best rationale for the use of A-V aids lies in the fact that :

(1) it facilitates teaching - learning process.
(2) it makes learning concrete.

(3) it activates our two senses.

(4) it is just other way of doing the thing.

‘Epidiascope’” equipment can be used for :

(1)  seeing things clearly (2) projecting an opaque object on screen

(3) copying an object (4) enlarging an object

Which of the following can not be a part of a test to measure intellectual ability of a

learner ?

1 To meet the demand of a situation.

3

(1)

(2) To learn and use past learning.

(3) To solve the problems which a learner confronts.
(

4)  To make sound ethical judgements and moral decisions.

In which area of the following maximum transfer of training is possible ?

(1)  Memorization (2) Generalization

(3) Perception (4) Habit formation
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68. Yferr sTafey wt gfte | HAA wper yomel | waifes af ford 2t 2
(1) Tt s (2) wEH
(3) HHHE = (4) gfqureed sers

69. Tt fafere faemer fawa & fou qean fere o fsi st &2
(1) 39& IR FRasad
(2) ST g Sifersh SuctfeEl
(3) 3THT AYUIOMHF TR qAT AH-JAd
() SudEd § F sthen FE A

70. FA-T¥F TIEAI % YANT F THIER 59 qe9 W efa ¢ o
(1) 389 srearq-ifer ufohn @ @ st &1 o
(2) TE Y AR Ty & S

(3) 39 H TN IFI sfwan |lha Bt 71

(4) T s foret =T Rl A FHT T RIHT T |

—

71. UfUSHERE 3Usv &1 9 Frafafed o feaes fag faan s 2
(1) I &l T €9 F 6 & fou

(2) et srareyit o w1 e W wafiE S % fon

(3) Trdl T 1 Tha IARA & e

(4)

4) fowdl o 1 wel fo@m & fag

72. Tt sredan o1 difger draa s 9o & oo fafafed § @ o wieon s um =@ & e ?
| 1) Tt srafeafa w1 stavaewa &1 gfd &
qd AT SR HREAT 3R 36 & 3TE

(1)
(2)
(3)  STEHAT % WHY ST FTCl TR T GHINE
(4)

4) 39 e Fofa e

73, frafafaa # & forg e o sifusay sifam s dae 2
(1) TR (2) TR (3) AeEYA (4) oTEal w1 o
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75.

76.

77.

78.

79,

80,

Which of the following is likely to be the greatest threat to an emotionally insecure child ?
(1)  No discipline at all (2) Over-indulgent discipline
(3)  Adult - imposed discipline (4) Self - regulated discipline

What should a teacher do, in order to promote long-term retention ?

(1)  Avoid occurrence of mistakes.

(2) Encourage remembering the material accurately.

(3)  Use the material during discussion and provide some more advanced material.
(

4)  Reinforce the learning with the introduction of similar material immediately.

The art and science of teaching to adolescent learners is termed as :
(I) Andragogy (2) Pedagogy
(3) Teaching Technology (4) Behaviour Modification

Which one of the following is the right sequence of the process of teaching ?

[ D — delivery ; E — Evaluation ; F — Feedback K — knowing the target learner ;
P — Planning |

(1) PKDEF 2) KPDFE 3) PKDFE 4) KPDEF

What is the basic difference between Teaching and Learning ?

(1) Teaching is mediated behaviour, learning is not.

(2) Learning is mediated behaviour, teaching is not.
(3) Both are mediated behaviour.
(4) There is no difference.

On a particular rainy day, your students are not in a mood to study. What would you prefer
to do ?

(1) ask them to go to the library

(2) revise a lesson

(3) organise a quiz programme on a topic
(4) give dictation

Which of the following would be the best way to inculcate value - co-operation among your
students ?

(1) Organise a lecture on the topic ~ (2) Organise cultural programme

(3) Organise a camp for one (4) Playing a role model
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74. Towdt T w9 9 srpfad 5= & foru frefafed § 9 Fia sga e wad o9 qe6d €2

(1)  STEMEA 1 qul A9 (2) G- ST
(3) TEEhRI GRI TIET T4 STREA (4) T@EfTEEE ST

75. oSl 3TAfE S STIURO (TROT) i FQET 99 & fIT Uk STEATIe Sl 1 HTAT Fife’ 2
(1) swIfeal & afed 89 =1 g T

(2) | T G ®Y H AE WA I IeEiEd

(3)  =A FIA qEA A T GANT AR 31 Frt qeaEi Ye

(4) @ 9 E AR (3|E) FN A 1 yafad S

76. TR9IR et & s1eATaq ot herl iR fasm =t o/ A fean s €2
(1)  T=grist (2) USEISH (3) cfem st (4) STEER YR

77. e Yihan % fou frefafaa § @ S sy sfaa ® 2
[D - fefaad ; B - goaisd; F - dfdgfie K — ST&3a1 sl STHAT; P — ST §4H |
(1) PKDEF (2) KPDFE (3) PKDFE (4) KPDEF

78. STeATAA 3R s W o1 TR ;M ¥ 2
(1) 3TEATIH Uh HeARy HaeRr & i =& |
(2) AT Uk GEAEY SHERR €, LA 7L |
(3) TFI & HEATY SRR B |
(4) T H HE SR A B

79. Towe fovm fem w1 ouf &1 @ €, sk foenedt ve & g # 7E ¥ 1 o9 o o Sfew wweh ?
(1) 3% Fe fF g=IeRe™ =e 9 |
(2) fowc we wt TRgf
(3) st fowa o yearadt ot SHaE T
(4) 4a T@ HEMA
80. AN % oA ! Il H fgenfaa w1 & fore gatam fafy @ %2
1) 38 fava W Uk SARAN H1 S
2)  WiEHiaE HTAHH I ST BT
3) U HY TR
4)  ofaem srfya gfaeao

~
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(
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82.

84.

85.

86.

87.

§8.

89.

90.

PART-B
SECTION-V (i) : SCIENCE

Refractive index of a medium :

(1) has no unit

2)  has an unit

3) has a value equal to 1 or less than one
) has a value less than one

Three primary colours are :

(1) red, green and yellow (2) red, green and blue
(3) green, yellow and orange (4) violet, yellow and red

Which physical quantity is represented by Coulomb per second ?
(1) charge (2) electric current
(3) potential difference (4) resistance

A wire of resistance 2 ohms is bent in the form of a closed circle. The effective resistance
between the two points at the end of any diameter of the circle is ;
(1) 0.5 ohm (2) 1 ohms (3) 2 ohms (4) 4 ohms

The frequency of an alternating current whose direction changes after every 0.01 second is :
(1) 1Hz (2) 2Hz (3) 50 Hz (4) 100 Hz

How much solar energy will be received by 1 m? area in one hour ?
(Solar constant=1.4kW/m?) :
(1) 1400x1 ] (2) 1400x60 ] (3) 1.40x60x607] (4) 1400x60x60 J

Speed of light is maximum in the following (out of 4 given media)
(1) water (2) glass (3) diamond (4) air

Average age of red blood cells (RBC) is approximately :
(1) one day (2) 30 days (3) 60 days (4) 120 days

On adding lime juice to distilled water its pH :
(1)  remains unchanged (2) becomes 7
(3) becomes less than 7 (4)  becomes more than 7

he valency shown by an element having atomic number 12 is :

1 1 2 2 3) 4 4) 6
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HAT-o

@ueg-vV (i) : fag™
81. ferelt wreaw & sqedi o :
(1) % 3&E T8I Bl (2) THE BN
(3) WM 1 3HUET1 ¥ FHH T (4) HF 19 FH ¥
82. o weufer T ¥ :
(1) e, 80 g dier (2) e, &0 T el
(3) &, el ug AR (4) ST, Ot TE e

83. e yfa e forg fasw afer = gwiar &2
(1) 3w (2) Ta=rd |m (3) fawerw (4) gty

84. < 3 wfeRly & Uk AR I HisH SH gd & ©9 W 5o I T 81 39 g4 & R =Aw F st
forgatl o wea gorelt wferiy grm -

(1) 0.5 =4 (2) 13 (3) 23 (4) 439

85. Uk Yol ¥R ! &9 Y% 0.01 ¥he H acordt 81 39! g ©
(1) 1Hz (2) 2Hz (3) 50 Hz (4) 100 Hz

86. 1% H1m?&s W forat g Sort wra grft 2 (WR frrdish = 1.4kW/ m?2) :
(1) 14001 J (2) 1400x60]  (3) 140x60x60] (4) 1400X60% 60 ]

87. 97 4 wremsi ® wemrw w1 ifa ge 7feres Bt B2

1) oA 2) wHaH 3) ®H (4) = gH
88. TS ToRI FHUN Y HEA ST T T -

1) T e (2) 30 fg= (3) 60 fea (4) 120 f&
89. YA 5& H g 1 ¥ A W 59 pH :

(1) 3ufafdd @ 1 2) 7@

(3) 7@ FH DRI 4) 79 e B ¥

90. UHIY] SHHIh 12 916l Tl <l HATSThal & :
1) 1 @) 2 3) 4 4) 6
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91. Chemical formula for baking soda is :
(I) NaOH (2) NaHCO;4 (3) Ca (OH), (4) Na,COj4

92. Pure gold is :
(1) 1 carat gold (2) 18 carat gold (3) 22 carat gold (4) 24 carat gold

93. The agency responsible for running space research programmes in India is :
(1) IRS (2) UGC (3) ISRO - (4 TARI

94. The first Indian satellite sent to space was named :
(1)  Rohini - (2) Dhruv (3) AryaBhatt (4) Sputnik

95. In Hydrilla plant stomata are present :
(1)  On stem (2)  On leaves
(3)  On both stem and leaves (4)  No where as they are absent in Hydrilla

96. The excretory unit of kidney is :

(1) neuron (2)  hormone (3) photon (4) nephron

97. The author of the book "The origin of species” is :
(1) Charles Darwin (2) Lamarck
(3) J.D. Watson (4)  Weismann

98. The time period of geosynchronous satellite is :
(1)  One hour (2) Twelve Hours
(3)  Twenty-four hours (4)  One year

99. If we draw a V-I graph for a conductor (V=P.D. across the conductor and I = current flowing
through it) it will be as shown in figure.

11 1 I
a '/ o 'l /o TK o 'l
VE==F V—> V-—>

100. AIDS is caused by :
(1) Fungus (2)  Virus (3) Bacterium (4) Malnutrition
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91. @M % Tl T THEE G T :
(1) NaOH (2) NaHCO, (3) Ca (OH), (4) Na,CO,

92. IS AT :
(1) 1% 9 (2) 18 T T (3) 22 FTE FH (4) 24 FH= T

93. YRA T 37afler v iRy el ol SU%H ©
(1) IRS (2) UGC (3) ISRO (4) TARI

94, ={qfter § WM aTen YUYW YRAE 3YUT AT

(1) fe (2 ¥ (3) e (4) ¥t
95. eEfeendg # ©Her e[ €

(1) ™= (2) faal W

(3) o Td uftEl S W (4) el TS IR TT TTEfoen H SAIEYd B B |

96. FAF H IS THE © :
(1) A (2) BREA (3) THRHM (4) A

97. ‘T Siiftfe 37 o=’ & o © ¢
(1) =red erfad (2) ©mERER (3) SLEL aEEA (4) dfgsEE

98. Y- oAHIfCTH IUUE I AEd HTA @
(1) U = (2) WE ES (3) e He (4) TUwad

99. T FATH o fd V - [ U F91 TR 1 21 : (V= a1eteh o eAf=am fal W favaiar, 1= <ot & o)

1 1 I
q 'l / o / @ 1 w 'l
V—> V—>

V— V—r

100. AIDS 1 %R § :
(1) T (2) @EE™ (3) wFEIE (4)  FAm
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101.

102.

104.

105.

106.

107.

PART-B
SECTION-V (ii) : MATHEMATICS

1 1 1 1
~ + : - + TN S Y
Thevalue of 7B " T+ B = B+ 44 8+ 9

1) 1 2 =1 3) 2 4) -2

The smallest number which is a perfect square and contains 7936 as a factor is :

(1) 264016 (2) 241606 (3) 246160 (4) 246016

. The value of l_b ¢ x bl_ P-a 1_a ™ s ;
x4 x°7¢ x¢

1) 0 @ =1 3) 1 4) 2

A sum of Rs. 1200 is lent partly at 6% and partly at 4%. If the total interest for 3% years be
Rs. 224, the amount lent at 6% is :
(I) Rs. 800 (2) Rs. 252 (3) Rs. 224 (4) Rs. 168

A’s share is to B’s share as 3 : 4 and B’s share is to C's share as 6 : 7. The ratio of the shares
of AtoCis:

1) 12:14 2 9:12 3) 9:14 4) 4:6

The price of sugar increased by 25%. How much percent should a man decrease his
consumption so that there is no increase in his expenditure ?

(1) 25% 2) 20% 3) 15% 4) 10%

The list price of a penis Rs. 160. A customer buys it for Rs. 122.40. He gets two successive
discounts - one 10% and the other unknown. The rate of second discount is :

(1) 4% 2) 5% 3B) 6% 4) 8%
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101.

102.

103.

104.

105.

106.

107.

AT - &
Qug - V (i) : ToTE

. + 1 + L I S g,
1+42 V248 - N3Fd Bt o Ty
1) 1 2 -1 (3) 2 4) -2

B W B H&A S T Ul 1 ¥ IR ST [UAES 7936 €, T8

(1) .264016 (2) 241606 (3) '246160 (4) 246016
1 1 1
1 —c 1 )b-a 1 -b 3
(Ao e
1 0 2 -1 G 1 4) 2

1200 9T F TR F 6% X TS 4% 9 W IUR & A T aﬁ%a&ﬁa‘»m%m
224 T9T B, T 6% AT T SUR < TS AR
(1) 800 ¥w (2) 252 ¥U (3) 224 TWU 4) 168 TU

A w1 oo oiR B o1 feemn 3: 4 IR B 1 fewmn s C a1 femm 6 : 7 %1 A @R C & o= o7um
B :
1) 12:14 2 9:12 3) 9:14 4) 4:6

= o goa H 25% gfg & T8 1 Tk SAfH H1 1A wud fohan wfaera w9 ) < =l qife sweh
TaAgfgaa?

1) 25% ) 20% 3) 15% 4) 10%

T 9 T SifeRa HoT 160 TIC ¥ 1 IS WTEH $H F.122.40 H WHGH T 1 IH HEW: T T2 W Bt 7
T 10% 3R THA T 1 9a1 76 &1 THA B R WL
1) 4% 2) 5% 3) 6% @) 8%
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108.

109.

110.

111.

112.

113.

114.

A man sells a toy for Rs. 80 more than he paid for it and realizes a profit equal to two-fifths
of its cost price. The cost price of the toy is :

(1) Rs. 300 (2) Rs. 250 . (3) Rs. 225 (4) Rs. 200

A train takes half an hour more to do a journey when it is running at 25 km an hour than
when it is running 30 km an hour. The length of the journey is :

(1) 200 km (2) 150 km (3) 100 km (4) 75 km

sin 27° e i cos 63°
cos 63° cos 27°

2
The value of ( ) —2sin 30° is:

1 2 2 -2 G) 1 4) -1

The value of 0 less than 90° which satisfy the equation 3 tan 6 + cot 6 =5 cosec 0 is :

(1) 30° (2) 45° 3) 60° 4)  15°

From the top of a building 60 metres high the angles of depression of the top and bottom of
a tower are observed to be 30° and 60°. The height of the tower is :

(1) 40 m 2) 403 m 3) 20 m 4) 203 m

The ages of 12 persons are given below
48, 42, 47, 43, 48, 56, 50, 56, 65, 56, 65, 60
The modal age is :

1) 65 2) 56 (3) 50 4) 60

A room 5 m long and 4 m wide is surrounded by a Verandah which occupies 22 sq m. The
width of the Verandah is :

1) 1m 2) 15m 3) 2m (4) 25m
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108. T = forg fora gea W el @dier S8 80 T9T 31 oot T 38 = ¥ oK T A g

2 o
& < F S T W B ¥ | G Bk e

(1) 300 ¥9Q (2) 250 ®9T (3) 225 %Y (4) 200 ¥9Q

109. afe Tw Termet 25 foR . wfa w1 1 wfa @ =@ R gEd 30 R wfa e = vfa @ w1
ffrem g T 0 | veel M s s sifvs wHE TR | Sy e e g fhe €

(1) 200 fe.. (2) 150 f.f. (3) 100 f&.#. (4) 75 fe.A,
110 sin 27° Y 4+ [cos 63° Y _2sin30° FEAE :
' (cos 63° ) (cos 27° ) '
1 2 2 -2 @) 1 (4) -1

111. 90° ¥ &H 0 1 T S FHIHIW 3 tan 0 + cot 6 =5 cosec 0 Tl TIL HT §, T8 ¢ :
(1) 30° (2) 45° (3) ~ 60° (4) 15°

112. 60 "X 9 Yo & IR @ H9R &% w1 e1aaa &1 3R HHR % del 1 I HH: 30° 3R
60° ¥ HITR I FEE T

(1) 40 . (2) 403 (3) 20 . (4) 203

113. 12 =Afamai #t 3mg = R
48, 42, 47, 43, 48, 56, 50, 56, 65, 56, 65, 60

TEAF Y T
(1) 65 (2) 56 (3) 50 4) 60

114. T HA 5 HeX a1 3R 4 Hrex <rel € Forgen =1 ot ueh e € s 22 o Hex ¥ s &1 dies
T |
1) 1 ¥ 2) 15 H=x (3) 2= (4) 2.5 WX
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115. A cone and a cylinder are of the same height. Their radii of the bases are in the ratio of 2 : 1.
The ratio of their volumes is :

1) 2:3 2) 3:2 (3) 3:4 4) 4:3

116. A right circular cone is 8 cm high and the radius of the base is 2 cm. The cone is melted and
recast into a sphere. The diameter of the sphere is :

(1) 8 cm (2) 6cm (3) 4cm (4) 2cm

117. The mean of the following data is 20.6.

x 10 15 20 25 35
fi: 3 10 x 7 5
The missing frequency (x) is.
(1) 25 (2) 15 (3) 10 4) 8

118. If two coins are tossed once, the probability of getting at least one head is :

1 1
M 5 @ ©) @ >

119. If two of the vertices of a AABC are (1, 2), (4, 5) and (5, 3) is the centroids then the third
vertex of the triangle is :

(1) (10,2 2 (159 ®) 9 4) (153

120. The sum to n terms of an A.P is given by 31 +3n. The 5 term of the AP is :

1) 42 2) 36 3) 30 (4) 24

B.Ed./2011 40



115.

i1e.

117

118.

119.

120.

U I 317 U Foi ol S1E THF € | 9% AR o6t Boonsti § 2 1 %1 199 § 1 374F 3maH =
3:@3{73%:

(1) 2:3 (2) 3:2 3) 3:4 (4) 4:3

T THIT Vi 8 AT St ¥ i s i fie 2 WAL ¥ vig R fowem We § g s R
el 1 B E

(1) 8¥.Hn (2) 6 H.H. (3) 49T (4) 29

frefafad stiemel 1 m1e 206 ©
x:10 15 20 25 35

f:3 10 X 7 5

afe 1 fgaenl =1 Ush 91 STl ST ® O 9§ HH U Tad ol W e B 9l §

1 1 2 3
W 3 @ G) 3 4 5

afs TH AABC & & 919 (1, 2), (4, 5) 3R (5, 3) 35T Shaeh &1t Broget 1 o oiid §

(1) (0, 2) 2) (159 G 69 4) (15 3)

foRe TR 421 & 1 T&1 1 AN 302 +3n T g &1 THiR R F5 TR R

1) 42 2) 36 (3) 30 4) 24
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PART-B
SECTION-V (iii) : SOCIAL SCIENCE

Choose the correct answer out of the four :

121. The most important kingdom in Deccan and Central India after the Maurya has that of
the : '

(1) Satvahans (2) Cholas (3) Pallavas (4) Pandyan

122. Alberuni came to India in :
(1) 9th Century AD (2) 10th Century AD
(3) 11th Century AD (4) 12t Century AD

123. The planning commission was set up in :

(1) March 1950 (2) March 1951 =~ (3) April 1951 (4) April 1952

124. What is the consequence of the write of Habeas Corpus ?

The person under detention is set free

(1)

(2)  The public servant is restrained from taking any action

(3)  The officer not competent to take certain action is told not to go ahead with the action
(4)

More information is sought from the lower court

125. Which of the following river is called ‘Biological Desert” due to heavy population ?
(1) Brahmaputra (2) Ganga (3) Damodar (4) Yamuna

126. Which of the following foreign kings was not a contemporary of Ashoka ?
(1)  Antiochos Theos (2) Magas
(3) Ptolemy Philadelphos (4) Daurius II

127. Who is remembered as the pioneer of Economic Nationalism ?
(1) Bipin Chandar Pal (2) Gokhale v
+(3) - R.C. Dutt (4) Madan Mohan Malviya
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HET-A
WUS-V (iii) : AWrETSS faA=
frafafaa =w fawedl ° 9 w8 3w g
121. T/ % q9=Td ¥ ST T YR § Faiiueh Hec el WA fohen o417

(1) wraared (2) & (3) Heod (4) TigHA

122. SoTarEAl YRd | 3774

(1) oFfwEed (2 A mWERF (3 NH v d @) DA wEE

123. ST STENT &1 TATIAT B8

(1) == 1950 (2) =rd 1951 (3) T¥a 1951 (4) A 1952

124, <t geaafiaror anfasht =1 Fa1 afiom § 2
(1) oR=Er § T T At ) w@ad fHan s
(2) e U I HIE HRATE FHH F T ST
(3) S fiRT SiZ HRAE HH & U e ¥ 3 3T HRAE 7 HW & T Hgr 5w 7
@) oo = 9 eifus et 9T S

125. 9R SHEE & FR0 fEfataa 3 9 fog 78 ol Sdg qesad e S § 2
(1) s (2) T (3) wHEIR (4) =TT

126. frafafaa 4 9 A @ fagef TS 19 o1 qHTela 78 o1 7
(1) wEEE faam (2) =™
(3) et frerSerEE (4) =fEai

127. snfels Tezeng & ol & w9 ¥ f69 g foman s & 2
(1) fafm=Ega™  (2) 7ed (3) REEA (4) WA A
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128.

129.

130.

131.

132.

133.

134.

Lapps inhabit :
(1) East Africa (2)  European Steppes
(3) South American grasslands (4) European Tundra

Candizeri Span is famous for :

(1) il (2) oranges (3) cork (4)
Who is one of the propounders of the binary star theories ?

(1) Laplace (2) Kant (3) La-Pichon (4)
In which state was Panchayat Raj first introduced ?

(1)  Gujarat (2) Rajasthan (3) Bihar (4)
The electoral system of India is largely based on the pattern of :

(1) Britain (2) France (3) USA (4)
Monoculture is a typical characteristic of :

(1)  Shifting cultivation (2)  Subsistence farming

(3) Specialized horticulture (4) Commercial grain farming
Horse latitudes is the term applied to the :

(1) 0°=5° N and S latitudes (2) Polar circles

(3) 30°—40° N and S latitudes (4) 40"—60" N and S latitudes
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128. o™ H 7@ T

(1) ol TR (2) T4 = A
(3) Eferor ST =REE (4) FE 2T

129. HeErr 94 fras fou ufag B2
(1) d= (2) TH (3) ik (4) wfen

130. f=fafea & | &9 fg- smumr 9are fagial (e ©R A10s) &1 9fqqes © 2
(1) o (2) e (3) o fueie @) SR

131. HF 9 TF H = T G99 T8 AR g3 2
(1) TS (2) TeTEAH (3) fa=r (4) 7Y geW

132. WX 1 FHafer qomet =9 w9 | g 39 & 9= W i € 2
(1) fae= (2) R (3) HgF oA i (4) T 9 FE TE

133. UshEwpfa feraent wora fagomn & 2
(1) =@ H (2) frafe @t
() fafere am-Hu (4) @R H

134. VI ST&IY 918 1 TANT fohann ST &
(1)  0°—5° 3T iR afaqolt stemen & oo
(2) e g % e
(3)  30°—40° 3T AR cfaoft sreren & fag
(4)  40°—60° ST 3R farolt sreqivn & forw
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135.

136.

1.37.

138.

139.

140.

In the vedic period goghna refers to :

(1)  One who gifts cattle (2) One who siaughters cattle
(3) A guest (4)  The bridegroom

‘Half an hour discussion’ can be raised in the house of parliament after giving notice to the :
(1)  Presiding officer of the house

(2)  The Secretary - General of the house

(3)  The Secretary of the department of parliamentary atfairs

(4)  Concerned minister

Fiscal policy is connected with :
(1) Exports and imports (2)  Public revenue and Expenditure

(3) Issue of currency (4) Population control

Who of the following was the first speaker of Lok Sabha ?
(1)  Hukum Singh (2) G.S. Dhilon

(3) G.V. Mavalankar (4) Ananthaswayanam Ayenger

Who amongst the following was impeached in England for Acts Committed as Governor
General of India ?

(1)  Weliesley (2) Cavendish Bentick

(3) Cornwallis (4) Warren Hastings

Which year is known as "Year of the Great divide” with regard to population growth in
India ?

(1) 1921 (2) 1947 (3) 1951 (4)  None of these
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135.

136.

137.

138.

139.

140.

e Fer B e #7 o1e ¥
(1) % =afa S Y] T L 8 (2) o SAfH S 9y B B FE B

(3) T Afafy (4) = (TeRI)

Y Afeg 3 ¥ 91C 9O F 9 ° L oY e H ==l S TEAl ©

(1) 9gA &1 Jem™e sfusry (2) A F HEEiad
(3) Hudr wrd g w1 wfea (4) weifea ot

Tores Hifa fred S[Et ® 2

(1) omam IR Faf (2) <R e IR T
(3) =1 (4) SEEE fEE

frafafaa § 9 SF Angy &1 999 gy o ?
(1) w4 fae (2) Sit.uE. fewl

(3) i1, HeERT (4)  STHAATETITH IR

YRT o TR S & &9 § 3797 ! & fog seie o frefafad § 9 feg o geifiE =ema e
1 ?

(1) et ) wafew dfew  (3) wHaTfem (4) 9N =T

IRA H SEe gfs & ey forg od =1 geifaures &1 ad’ | S € 2

(1) 1921 (2) 1947 (3) 1951 (4) T @ 1
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141.

142.

143.

144.

145.

146.

147.

148.

PART-B
SECTION-V (iv) : ENGLISH

Choose the most appropriate response out of the four choices given after every question.

Each question carries one mark.
Which of the following words means the same as “desultory ?

(1) purposeful (2) planned (3)  stray

The antonym of “Abstemious’ is :

(1) festive (2)  hedonistic (3)  boisterous

The antonym of ‘iota” is :

(1) falsehood (2) scrap (3) molecule

A doctor who specialises in the treatment of the brain is called :
(1) ophthalmologist (2) cardiologist

(3) neurologist (4)  pulmonologist

Choose the correctly spelt word :

(1)  procide (2) proceed (3) procid

Choose the correctly spelt word :

(1) pronunciation (2) pronounciation (3) pronuncation

The indirect form of the sentence :

She said, “I have finished my work” is :

(1)  She said I have finished my work.

(2)  She said she have finished my work.

(3)  She said that she had finished her work.
(4)  She said she has finished my work.

Choose the correctly spelt word :

(1) inocuous (2) inocous (3) innocuous
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149.

150.

151.

152.

153.

154.

The indirect form of the sentence :

She asked her student “Have you done your homework ?” is :
(1)  She asked her student have you done your homework
(2)  She asked her student if she has done your homework
(3) She asked her student if she have done her homework

(4) She asked her student whether she had done her homework.

The passive voice of ‘someone stole her purse’ is :
(1) A thief stole her purse.

(2) Her purse has been stolen by someone.

(3)  Her purse has been stolen by a thief.

(4) Her purse got stolen.

The active voice of "He has been sent to Canada by his company for training’ is :

(1) He has gone to Canada for training.

(2) His company sent him to Canada for training.

(3) His company has sent him to Canada for training.

(4) His company went to Canada for training.

The most appropriate word to fill in the blank in “They _come here next week.
(1) have (2)  will (3) had (4) has

The most appropriate word to fill in the blank is ‘I have not seen her ages’.
(1) since (2) for (3) tll (4) from

Desdemone was the heroine in which play of Shakespeare ?
(1) Hamlet (2) King Ler
(3) Merchant of Venue (4)  Othello
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155.

156.

157.

158.

159,

160.

Who wrote the poem ‘Ode on intimations of Immortality” ?

(1) Keats (2) Byron (3) Wordsworth (4)  Shelly

In which novel is Gabriel Oak the hero ?
(1) Far from the Madding crowd (2) Emma

(3) Mayor of Casterbridge (4) Return of the Nature

Who wrote the novel ‘Wuthering Heights” ?
(1) George Eliot (2)  Emily Bronte

(3) Charlotte Bronte (4) Jane Austen

The play ‘Desire under the Elino” was written by :
(1) Bernard Shaw (2) Samuel Beckett

(3)  Eugene O'Neil (4) Shakespeare

In the sentence “‘Denmark is a country which is in Europe” _

which is in FEurope is a :

(I) Noun clause (2) Adjective clause

(3) Adverb clause (4) None of the above

‘Ram, as well as Shyam, is an Engineer’ is a :

(1)  Simple sentence (2) Compound sentence
(3)  Complex sentence (4) Complex - Compound sentence
-00o0-
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WAT-o
Q[Us-V (v) : fe=t

U9 HEAT 161 W 165 fow fader .
= 53 T3 e 1 e | ufed SR IHE SHR W YD T Ul % Fditad St g |

forger atve forat wfes sireHTe yanfed il € SoT &1 ST7eAT 61 Ot Sigdl ST |, snvmved- fawga g
@1 | SR HEHN , Y WIEHG ¥, 3 greri § et oft F1:%aned Um o T2 gehan ¥ 1 & &2 Uk qof
1 FRal € - U9 wifew) T oy @ ot wR =nfee @ adigs ot Yo @ Tgel 3R SIS YEe SHaRR
STYeT TEAl § 1 UE e R gep F O Sie U9 SR IEE I © a1 o ge § S9 @R SR g A o
oot 91 werm 1 AR 1w T ) @R wifey, 3R g7 off f1.wened, wes iR onadt wra ¥ R gen | g% At
g ¥ e qrEqt afed Wi 8 Al aER B $ iR fiwened i genfed g @

TST 3 A0} AraTeRy H e AfH Heryfa, agure iR dier @ | ® faeg w faerem ® i afz
HIE AR T T HIAT T 1 AR TR g1 @ § R e safe 99 sa =R 9 i Eer w @ E 2
T TEHT AT U B 2 Afeh STel GHsEr ¥ el safed YHYUl e UIeh hasil s STYE Y qeTd He
AW ¥ 38w H e iR Siad § ' 9@ i achrd a8 o €

Y% Al Saq | ST 1 ST =JRdl € W SHE Siad | ST IR gt TEél ¢ i 9%
SATCHETR ST oA o SN H Se © 1 ST W1 TSt o v iR T ® oiR 99 SHeR! wifed ®1 g
YR | @ AT R wed T o ® 9 1 wife, afesan, 9w i ot ot wifem 1 ueie A o e
T BT E | S T 1 TOre € - videran, 1 o o -S| 9 b o € serelt feeeg 9
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